
 

Travis Industries Avalon Pendleton Insert Parts List 

Description  SKU  

AIRTUBE KIT, A-7 PEN(745/90)# - 796 (SR.#7996 & UP)  98900206  

AIRTUBE SLEEVE, 1 x 1.250od# - 1 PER PACK  250-00042  

AIRTUBE, ROLL PINS, PK OF 6# - 1/4" dia. x 5/8"PLAIN STEEL  98900357  

ASHLIP TRIM, AVA SM/MED WOOD# - BRASS- LIMIT TO STOCK ON 
HAND  

99300266A  

ASHLIP TRIM, SET SCREWS - 10#  91002329  

ASHLP TRM ASS'Y, BLK SML AVA# - SERVICE PART  250-01546  

BAF SUPRT, FRONT "Y" # - PEN/796/745/790 - w/DEFLECTOR  98900305  

BAF, KAOWOOL BLANKET WEIGHT# - PEN/790/745/796/996  98900319  

BAF, KAOWOOL BLANKET, PEN/790 - 745/796/996  98900318  

BRICK-CUT, 9 x 2-1/4 #  251-00001  

BRICK-CUT, 9 x 3-7/8 #  251-00002  

BRICK-WHOLE,9 x 4-1/2 x 1-1/4 - STANDARD FIREBRICK  251-00000  

DOOR CAM, BRASS # - VARIOUS MODELS  250-00598  

DOOR HINGE - 1 - AVA WD/AGP  250-04322  

DOOR, AVA, MED BLK, SML HINGE - NO GLASS w/HANDLE 
(PEN/RAI)  

99300507  

DOOR, AVA, MED BLK, SML HINGE - w/GLASS & HANDLE 
(PEN/RAI)  

99300507 C  

DOOR, AVA, MED BRS, SML HINGE - COMPLT - LIMITED STOCK  99300506 C  

DOOR, WASHER, .390 x .630 SS# - PK OF 8 - SERVICE PART  250-00364  

FASTENER - HEX-NUT - 5-PACK# - BRASS 3/8-16 - JAMB/TOP-
LOCK  

250-00425  

FASTENER - SCREW, BLK 1/4-20 - WD HNDL, DR - 1-1/4" (6 PK)  250-00426  

FASTENER - SCREW, NAME TAG - #10 x 3/8 RHW BLK ZINC 5-PK  250-01031  

GLASS CLIP (4), AVA # - VARIOUS MODELS WD/GS/PEL  91001250  

GLASS CLIP SCREWS (10), AVA # - 10-24 x 1/2", BRASS/CAST 
DOORS  

91001249  

GLASS, AVALON SMALL# - 5mm NEOCERAM - 10.125 x 17.094  250-00595  



GLOVE, LEATHER PALM - 1 PAIR  250-01441  

GSKT (2), GLASS CLIP# - REPUB/OLY/RAIN/PEND/AGP  250-02628  

GSKT CEMENT, BLK# - 4oz. BOTTLE w/ BRUSH  99900427  

GSKT, DOOR 7/8" x 50' BLACK# - ROPE - MISC. 
GAS/WOOD/PELLET  

91001300  

GSKT, DOOR 7/8" x 64" BLACK# - ROPE - VARIOUS 
WOOD/PEL/GAS  

99900406  

GSKT, GLASS 3/8" x 66" # - AVALON WOOD, PELLET & GAS  99900403  

HANDLE (WOOD), DOOR - AVALON# - 1/2" id x 4.169" LONG  250-00594  

HANDLE ASSY, AVA w/BRASS CAM - & WOOD HANDLE - 
COMPLETE  

250-00818  

HW PACK, PANEL - MOUNTING HW# - SCREWS & NUTS - 
UNIVERSAL  

99300123  

KNOB (WOOD), SIDE A/C 5/16 id - AIR CONTROL (ASH/ALDER)  250-00366  

MANUAL, PENDLETON (OMNI) - 2002  250-00838  

MOISTURE METER# - FIREWOOD MOISTURE  250-02635  

NAME TAG - PENDLETON - w/DRIVE SCREWS  250-01315  

PAINT, METALLIC BLACK - 12oz. - SPRAY CAN  250-03678  

PAINT, METALLIC BLACK 3oz# - SPRAY CAN  250-00347  

PANEL TRIM, PENDELTN 10", BRS - w/HW, 44.000" x 30.125"  91001209  

PANEL TRIM, PENDELTON 8", BRS - w/HW, 40.000" x 28.125"  91001208  

PANEL TRIM, PENDLETON 12" # - PANEL TRIM, PENDELTN 12", 
BRS  

91001210  

PANEL, INSULATION - 3" x 10' - Wood Burning Inserts  98900352  

RETRO, CONV. TRIM - PEN (90)# - FOR TOP CONVECTION 
CHAMBER  

93007332  

ROLL-PIN TOOL# - SERVICE PARTS  250-02115  

SNAP-DISC, 5/8" w/BRACKET# - WOOD - AVA FRONT, UNIVRSL 
REAR  

98900355  

TRIM, TOP, BLK - PENDLETON - SERVICE PART  250-01539  

TRIM, TOP, BRS - PENDLETON 45 - LIMIT TO STOCK ON HAND  250-01545  
  

 

 

 

 


